2A - EH - OR(3) - NIRAY - BAS O kol )| & o HIDE2
14,734,339 15,406,069 A671,730
= 360,000 360,000 0
= 2,077,927 1,997,927 80,000
== 195,000 200,000 25,000
= 500,000 0 500,000
o 11,601,412 12,848,142 1,246,730
Shetor= AL 525,475 508,702 16,773
gt sLXIR 299,870 293,870 1,000
SO EHAHIIBIRS 129,800 128,800 1,000
SHXSOoIE 51,000 50,000 1,000
ZSOCHE B A HLAE AL S| 51,000 50,000 1,000
3E AlZFHDMAFHAY NNAMEE
51,000,000 51,000 50,000 1,000
SHURASAIAS LR 225,605 209,832 15,773
SS AN AMEH 29 88,661 72,888 15,773
88,661 72,888 15,773
22NSEs 88,661 72,888 15,773
AMESAZHAAMY FRICH Q12| 88,661 72,888 15,773
= 10,430,000 *201 20,860 5,087 15,773
OI0IXI 2=t 3,123,184 3,128,184 25,000
== 25,000 30,000 25,000
o 3,098, 184 3,098, 184 0
NEIN; 2,857,000 2,862,000 25,000
== 25,000 30,000 25,000
o 2,832,000 2,832,000 0
M X2 (A stz =T) 2,845,000 2,850,000 25,000
< 25,000 30,000 25,000
i 2,820,000 2,820,000 0
MSold 2,845,000 2,850,000 25,000
< 25,000 30,000 25,000
i 2,820,000 2,820,000 0
SO E A AS AL 2,845,000 2,850,000 25,000
2SN K2 (AR ER)
2,805,000,0002 2,805,000 2,810,000 A5,000
== 25,000 30,000 25,000
o 2,780,000 2,780,000 0
o 123,979 108,979 15,000
A 123,979 108,979 15,000
gzl 73,979 48,979 25,000
L20HY| 45,000 20,000 25,000
45,000 20,000 25,000
AUZANE ARR =M
45,000,000 % 14! 45,000 20,000 25,000
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A et
PSRLBESIE S geaf= I
SRl AFTMASHRIRAY (CHol: X 2)
SA - FHH . O(32) - HRAY - BES Ofl Aot )3 o GImE=ST;
U ZMA 201 |4 20,000 30,000 A10,000
307 212t01& 20,000 30,000 A10,000
12 QI2HCIRE =] 20,000 30,000 A10,000
OAUZMHE I =W=
20,000,000 %14l 20,000 30,000 A10,000
2023 MEMAN S| 45 - S AT 6,747,546 6,247,546 500,000
S 1,997,927 1,997,927 0
< 45,000 45,000 0
= 500,000 0 500,000
o 4,204,619 4,204,619 0
AL X 6,747,546 6,247,546 500,000
= 1,997,927 1,997,927 0
== 45,000 45,000 0
BN 500,000 0 500,000
i 4,204,619 4,204,619 0
AL XA 4,099,619 4,099,619 0
201 et 3| 1,159,424 1,159,424 0
01 AtR2elt] 918,420 878,420 40,000
Ogetz3| 896,420 856,420 40,000
QAAZ SHE0HH B2 320,000,000 320,000 280,000 40,000
03 AL2ZEH| 241,004 281,004 240,000
OAUAL =52 &X| - 2
10,000,000 %53 50,000 90,000 A40,000
SEZE Hol L OIIAE EXIAE 500,000 0 500,000
BN 500,000 0 500,000
401 Al &EHIZL LY 500,000 0 500,000
e 500,000 0 500,000
01 Al&H| 500,000 0 500,000
OSoBLE He| Y OFAAE EXIAIE (S
) 500,000, 000& 500,000 0 500,000
= 500,000 0 500,000
SUBUE A4 29 1,301,570 1,221,570 80,000
= 360,000 360,000 0
= 80,000 0 80,000
< 108,000 108,000 0
i 753,570 753,570 0
SELE 22l 2Z 1,181,120 1,101,120 80,000
= 360,000 360,000 0
S 80,000 0 80,000
< 108,000 108,000 0
o 633, 120 633,120 0
FEL(EYCE) O - BE AAE IEAS 80,000 0 80,000
S 80,000 0 80,000
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A et
M SOUELE ANE 2Z
thel: SOEUE 22| 29 CEEEN
SA - B SR(EH) - HIRAY - B2 Ofl by Il H o G[ImE=ST}
401 Al EHIZL LY 80,000 80,000
S 80,000 80,000
01 Al&H| 80,000 80,000
OREN 0l - BE AIAE = A (HEHA)
80,000,000 80,000 0 80,000
S 80,000 0 80,000
HRES(EHYat = 5tt) 2,553,190 3,831,693 1,278,503
LHEHeHKIE 2,522,903 3,816,903 1,294,000
SINLES 2,522,903 3,816,903 1,294,000
701 JIEIS HEHES 2,522,903 3,816,903 1,294,000
01 JIESIHINEZ 2,522,903 3,816,903 1,294,000
OZGMLAILELH HES
2,522,903,0002 2,522,908 3,816,903 1,294,000
SEXE 30,287 14,790 15,497
2xz3 BeEla 30,287 14,790 15,497
802 Btat=DIEt 30,287 14,790 15,497
01 FNE2XZEE3 17,200 13,200 4,000
OADIE fH™EtojsietEat 15 ALY &3
ZHH(O|XHEE) 2,000,000& 2,000 0 2,000
02021 RUIAD MAHDISERA S22 &2
2 SEAIY ESTH(0IRIEE)
2,000,000 2,000 0 2,000
02 Al - SHIBEZEEZ 13,087 1,590 11,497
O sSetgsadl sAE2E XA
THRIH(OIXIELE) 9,128,920& 9,129 0 9,129
O2022'H AZXSOIHMA A EEHEH(O|
pAE=Y 1,367,640& 1,368 0 1,368
02021 RUIAD MAHDISRA S22 &2
2 SEAIY ESTH(0IRIEE)
1,000,000& 1,000 0 1,000

- 227 -




A E Al A

F

</

Nl & O

H_,I O O O I O O | O Ol ||l ©o O | |o |1 | o o 10 |1 O
t g~ 88 8l g8lglglg g8 slgg 8lgl8 s
_I_._N - S - | - “- ] -] -] -~ T T - | - T ] -] - e
g oaf8 88 g8 s8|8|€8 s glg 8 glsfs W
q_v_mﬁ_v
-
535332 22glg s glglglelges glglg ®
S B Bldn BN SA|NMISS ISIgISle s S3s|S
S N — IS AN =[O O OO INIA Al OO |0 |0 o © o 10 |O
7 BV YREEEEREERBEHEIRBIER BRI
NN N
~
585535128 22glea g elglglgleag glglg s
SBBIEBJH|lasal@|BE S IISS|sle s S8 S
saslgsclggdlggle e dgglglg g glL|e
= N~ ~ N N
<
=)
WmH| WHe| W
o % T
[aN] o —
* 8 o
= L5 + 8 S
=| o ~ S S S
o] X0 = S H_|._% 8
il g o] 5= = S
[l S| ur ot —~
Ell Bl R
al = o ur =
oll = 3
= I ol o =
| X = = <
31 [Ho * 30 ol 30 =
,A(mD ] ~ OH OF
mam. ~ 3 N = 80 o Mo _
=0 o 30 = M0 (5o |= ST o
a5l = = 0 S b= £ > ur_
m_..h_ljru OF oll _ K 80 olI i Rkl K ®E ol
i Y = by 53 T ¥R =& |slk T
] oS A 80 (80 M0 oy | (M (oK | or Ty |0 (o o
a ™ol K a0 S 1 1 e e BN - - N o L
ERTRT I Rl 30 e E i S B el T T B RO
Hnozl . Al 0k Ao [Ho MO S zlar[<|< & o =l 3
WHEl 5 | J ) Wisly @ |olglsls © glz ©
0 O] 10 oF oy i = o0 | oF [~ [T
) 10 7o) H H 0 0k Al |
. 0 o ) Bl
TE 30 H0

- 228 -



